Spyder AMG

llllllllll

4 =

23C
b 5 ]
O T © N
— _ s E17B —lj
o ) 1 - 17C EITA
| | e 1)
O éc} i ]I i glﬁﬁ qg:lfﬁ"} Hnﬂ IR | __ﬂ___l
53 09 09 IBE JESIDG: | CEMAYY gy : 19A i_ 29A
37C 4 ; | :
L
"]
o
44M
NEW ITEM # | NAME OF PARTS NEW ITEM # | NAME OF PARTS
01 Barrel Plug 412G AMG Expansion Chamber Adapter
JB4110 Trio Deluxe Barrel (blue) 3C #011 O-ring
JR4111 Trio Deluxe Barrel (black) E0 O-ring #016 80D
20 Barrel O-ring HL AMG Expansion Chamber
45E AMG Shroud (silver) H“M Expansion Chamber Fixing Screw wiwasher
454 Shroud Screw (M4 X 4 Screw) 42H Hard Line Hose Adapter
040G Detent Cover 43F Hard Line Hose
05E M4 X 6 Screw (silver) 17A Filter (-ring #009
16046 Direct Feed (blue) 378 Air_Filter
174G Direct Feed (black) 1635C C/A Adapter w/ Regulator (blue)
1606 AMG Rreceiver (blue) 1735C C/A Adapter w/ Regulator (black)
1706 AMG Rreceiver (black) 3D Gaoge
07C M5 X 12 Screw w/ washer J6E 32" X 718" Screw w/ washer
WD AMG Quick Disconnect Striker Knob | |°F Regulator Adjust Screw
3C Disconnect Lock Pin ¥ MAXS Serew
1B Ouick Disconnect Pin 16 M5 X 12 Screw w washer
o \MG Veturl Codting Bei 1731 AMG Trigger Frame (black)
» Bolt O-ring #015 1631 AMG Trigger Frame (silver)
EI7C Retaining Ball JED Trigger Adjust Screw
EI7B Retaining Spring jﬂ:: 1$r5""""
EI7A Retaining Screw E33 ON/OFF Screw (MZX6)
470 AMG Sight Rail — ONOFF Swidh
A Sight Rail Screw wiwasher 49C Touch Switch Roll Pin
e Valve Body Screw JE27 Touch Switch
1% Striker O-ring 1 Sear Roll Pin & Trigger Roll Pin
18D Striker Bolt EA Sear
- Striker Spring JESIE Sear Spring
268 Striker Buffer TBISC Coil Set
2 Striker Spring Guide JE18B Coil Set Serew w/ washer
214 Flat Dise E30 Led Light Indicator
28KA Striker Plug JEMB Lock Switch
s Thumb Adjuster w/ Lack Scren JE29A Circuit Board
298 Lock Screw JE Circut Board Screw
08T Front Adapter JEI015 Rechargeable Battery 9.6v
1oC Valve Spring JE32A AMG Grip Cover
11 Cup Seal Guide JE3C Grip Cover Screw
12A Cup Seal (brass) JE26 Charge Pin
13 Valve Pin I5KA AMG Drop Forward
14 Valve Body 36F M4 X8 Screw w' washer




